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. 3. , 
i) ( ).

 p(xi) = 0 ,  D(xi) =
0.  p(xi) = 1 ,

i) = D(xi)  =  0,5.   pk = 1 .

,  p(xi) -
 ( . 3).

 (  (4), (5)  (6)) 

 ( . . 3).

 1 – -
.

D(x) ) = 1 - D(x) p=D(x)/ ) Rp = 1 – p(x)
0,01 0,99 0,0101 0,9899
0,05 0,95 0,0526 0,9474
0,1 0,9 0,1111 0,9999
0,2 0,8 0,2500 0,7500
0,3 0,7 0,4286 0,5714
0,4 0,6 0,6666 0,3334

D(x) = 0,5 = ) 0,5 pk = 1 0
0,6 0,4 0,6666 0,03334
0,7 0,3 0,4286 0,5714
0,8 0,2 0,2500 0,7500
0,9 0,1 0,1111 0,9999

0,95 0,05 0,0526 0,9474
0,99 0,01 0,0101 0,9899

) D(x) = 1 - ) pk = D(x)/ ) Rp = 1 – p(x)
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FORMALISATION OF ERGONOMICS OF AGRICULTURAL
MASHINES IN SYSTEM OF THEIR MAINTENANCE SERVICE

I. Rogovskii

Summary
In paper results of the analytical description of formalisation of

ergonomics of agricultural mashines in system of their maintenance
service are presented.


